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HMEBERAFR: M 3 £ 10 ABHS

HeE B EARHE (Fid) MAEE A & B
&3l SRR (14 BI=f) (mil=f)
946.0000 FJ (FiA) 431.7720 M (FiA)
A om ~80mET
860.0000 F (Fitk) 3925200 FM (Fitk)
1,199.0000 M (F73A) 400.1470 F (FziA)
B 81m ~300m E£T
1,090.0000 M (Fiik) 363.7700 M (Fitk)
2,206.4790 M (FiA) 366.5640 M (FiA)
C 301 m ~
2,005.8900 M (F73k) 333.2400 F (Fitk)

XKUEEHTEMTABRNE(EBAFAB)NEFLTNET,
T 3 £ 10 AORAENHE - -41.50 A (k)

OHAMENHE
(5] 17ADERAZ 10 mMOHE--HekD B 28H

Bin#E = HER B OEANE + (CHEAEM)x B RREMSHME) GARBDERO
= 1090Mm+ (150 m x 36377 M)

= 6546 M
HEREF = RlldE x HERE CRRBYHET)
EEEL]

6,546 A x 10 %
= 654 M

AZAHE = RIRHE + HERFHELE ARBIET
= 6546 + 654 M

= 7,200 A| — ZiEKZE




